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Time Allowed : Three Hours

Maximum Marks : 200

INSTRUCTIONS

Each question is printed both in Hindi and in English.
Answers must be written in the medium specified in the
Admission Certificate issued to you, which must be
stated clearly on the cover of the answer-book in the
space provided for the purpose. No marks will be given
for the answers written in a medium other than that
specified in the Admission Certificate.

Candidates should attempt all questions strictly in
accordance with the instruetions given under each
question.

The number of marks ‘carried by each question is
indicated against each.

An outline map of India is attached to this question
paper for answering Question No. 1. The map is to be
detached carefully from the question paper and fastened
securely to your answer book(s).

A graph sheet will be provided on demand in the
examination hall.

Important note : All parts of « question bemg
attempted are to be answered contiguously. That is, all
parts of the question being attempted must be completed
before attempting the next question, Pages left blank in
the answer book must be clearly struck out. Answers
following blank pages may not be given credit.
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1. On the map of India supplied to you, locate the
following places/features. On your answer book, write a___
short note (in about 20 words each) on the significance

of each of these places/features.

2x10=20

{Note : 1 mark is allotted to identifying and marking
each placeffeature on the map, and 1 mark to the

descriptive note on each. Remember to fasten the map

securely to your answer-book and do not write your Roll

number on the map sheet.)

{a) Karakoram Ranges
(b) Gadchiroh
(¢) Tawang
(d) Malkangiri
(e} lLattle Anda'fnan
(f)y Jaitapur
(g) Gulf of Mannar
{h} Sriharikota
(1) Chambal Ravines
4y Diu
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2, Answer each of the following in about 250 words : 15x4=60
(a)

‘India’s geography is ‘both its strength and its

weakness when it comes to defence strategy’
Comment.

OR

Discuss the impact of climate change on water
security in India.

The Constitution of India is one of the most

elaborately written documents in the world. Yet, it

has had more than a hundred amendments so far,
How do you explain this ?

OR

Evaluate the strengths and the weaknesses of
India’s democratic system of government,

‘What are the key elements of an immediate

response in the management of mass casualties ?
Explain the principles of “triage”™ and outline its
generally accepted classification system, in this
context.

OR

India stands committed to the global initiative of
“Vision 2020 : The Right to Sight’. In this context,
what are the strategies at the community level to
minimize preventable blindness and to improve
eye care ?




2. ﬁm%if@aﬁf%mmmwzmwfr
T ; 15x4=60
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(d) Bring out the differences in the causes and nature

of the challenge to internal security in the States

of Nagaland and Manipur.

OR -

Compare the role and skill-sets of an interlocutor
appointed to defuse an immediate crisis situation
with one appointed to suggest policy prescriptions.
Illustrate with recent examples. Whe, in your
view, makes for a more effective interlocutor — a
political personality or a-non-political one ?

3. Answer any six of the following in about 150 words

each :

(a)

(b}

()

(d)

(e)

A-MDF-M-E 6 {Contd.]

‘Agenda 21 is aimed at integrating environmental
imperatives” with developmental aspirations’
Elaborate.

Do you agree with the view that India has no
option but to go in for nuclear power to cater to its
increasing energy requirements 7

Has the Right to Information Act made a noticeable
impact on our governance system 7 Evaluate.

‘Conflicts in Indian society are not so much social

as they are economic in character.” Analyse.

Examine the nature of unemployment in the
informal sector in India.

10x6=60
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(f) Are Special Economic Zones (SEZs} a boon or a
bane to the Indian economy 7

(g} You are posted as 'the officer-in-charge of yeuf
unit’s messing facility,. How will you ensure a
healthy cholesterol profile for all those taking their
meals in the mess ?

(h) What are the seven directives on police reform
issued by the Supreme Court in 2006 (in the
Prakash Singh case) ? Comment briefly on the

'r

implementation status of these directives.

Ay -

4. Answer any nine of the following in around 60 words
each : 5x9=45

{a) Distinguish among the three principal types of
anti-personnel mines (APMs).

(b It can be argued that the AK is a relatively crude
weapon as compared to, say, an M16 or an SA80.
Account then for the AK’s global ‘popularity’ as an
assault rifle.

(¢) Comment on ‘restrained attrition’ as an important.
component of counter-insurgency operations. -~

(d) What is the significance of Agni-V in the country’s.
strategic deterrence capability 7

7

(e} Describe the different types of ‘whorls” in
fingerprints.
{ffi What are ‘carbon-efficient’ growth plans ?
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{(g) What is meant by the ‘ABC’ of resuscitation (in

ﬁr_stnaid} 7

(h) Bring out the distinction between ‘geo-strategy’
and ‘geo-politics’. '

(i) "What do you understand by ‘cost-push’ and
‘demand-pull’ inflation ?

7> What are the three basic stages in the process of
money-laundering ?

&

(k) Which agency in the country is also designated as

the National Maritime Search and Rescue
Co-ordinating Authority (NMSRCA) ? Bring out its
role in this regard.

(I) Comment on P-300 testing as an investigative tool.

5. The table below shows the food-grains production of
four countries A, B, C and D for the years 1971, 1981,
1991 and 2001.. Study the table and then answer the

following :
Food-grains production in

Country Million Tonnes (M.T.) for the years

1971 | 1981 1991 2001

A 12 1-8 2:6 48

B 16 28 46 7-2

c 14 1-8 3-2 56

D 21 38 | 58 82
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1971 1981 1991 | 2001
% 12 18 26 48
| 1-6 28 | 46 72
g 14 | 18 32 56
g 21 3.8 58 82
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{a) Represent the data listed in the table through a
suitable diagram. 7
(b) Which country had the ‘highest increase in

production from 1971 to 2001 in percentage
terms 7 3

(¢) If from 2001 to 2011, the average annual increase
in food-grains production in countries A, B, C and
D are 0-2 MT, 025 MT, -3 MT and 0-35 MT
respectively, what is the total production of all four -
countries in the year 2011 ? 5 ;

"
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(%) WROl ¥ Feiog MFsl H I ARG & HEm
¥ faefoa s |

(@) 1971 3R 2001 & F= fow v A whwma & w9
W IeA § 3=aam ITE w2

() T 2001 ® 2011 AF W &, @, T 3R ¥ ¥ @UE
I ¥ sftwa affs afg #wwr o2 wHA,
0-25 TH.3,, 0-3 WR.ET, 3R 0.35 TH.21. &, o a¥
2011 ¥ IR 37 1 FA IeqeA Fererr @1 ?
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Note : English version of the Instructions is printed
on the front cover of this question paper.
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